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1. BEBREOE
(1) #EIRE

EXRUHEERL 67,000 89, 000 A 22,000
R EZEFIR 67,000 89, 000 A 22,000
ZM=E 1,521,000 1,698,000 A 171,000
ZMEE 1,448, 000 7,616,000 A 168,000
EEIES SR ES 19, 000 82,000 A 3,000
EFRINEE 4,520, 000 5,080,000 A 560,000
ZEEEREFEXNR 90, 000 50, 000 0

e ETE AR E B RN 3, 200, 000 2,700, 000 500, 000
SRR E RE XN 1,270, 000 2,330,000[ A 1,060,000
ZMEBEE 9,185, 000 9,585,0000 A 400,000
ZMRWHEEE 8,625, 000 8, 625, 000 0
SRR E 560, 000 960,000 A 400, 000
U 130, 000 131, 000 A 1,000
IR 130, 000 131, 000 A 1,000
BEIRRE 21,429,000( 22,583,000 A 1,154,000

2) #EER

EXE 15,529,000{ 16,310,000] A 781,000
aMFEL 4,637,000 4,637, 000 0
RREES 953, 000 553, 000 0
REHRTER 229, 000 229, 000 0
BAIELEE 858, 000 872,000 A 14,000

EE 574,000 542, 000 32,000
REXBEE 3, 0568, 000 3,474,000 A 416,000
BIEERE 474,000 430, 000 44,000
HEME 387,000 427,000 A 40,000

ENm A E 1,779, 000 1, 689, 000 90, 000
TEHEE 211,000 200, 000 17,000
&M 1,025, 000 1,028, 000 A 3,000
AHE 167,000 177,000 A 10,000
EFHH 399, 000 221,000 172,000

b-2N: 1) 0% A 973, 000 1,537,000] A 564,000
RitE 32, 000 120, 000 A 88,000
EHELRE 60, 000 60, 000 0

e 107, 000 108, 000 A 1,000




# = FEE REETEE 15
EEE 1,431, 000 7, 308, 000 123, 000
HBHFEY 2,967,000 2,967, 000 0
RREEE 311,000 311,000 0
REHRTER 143, 000 143, 000
RAIELE 550, 000 560, 000 A 10,000
EE 40, 000 43, 000 A 3,000
REXEE 1,394, 000 1,218,000 176, 000
B E R E 145, 000 172,000 A 27,000
HEME 139, 000 166, 000 A 27,000
NS AE 0 12,000 A 12,000
FEHEE 40, 000 60, 000 A 20,000
BfEH 614, 000 941,000 67, 000
RERH 16, 000 16, 000 0
AEFHH 133, 000 133, 000 0
FBAR 12,000 72,000 0
XEEE 830, 000 831, 000 A 1,000
XERE 30, 000 30, 000 0
HE 1,000 21,000 A 20,000
EEEAR 22,960, 000 23,618,000 A 658,000
FHmE R F R B SRR ISR A 1,531,000] A 1,035, 0000 A 496,000
Bk ey 0 0 0
LR EIRREE A 1,531,000] A 1,035,000 A 496,000
2. RBEIMERDER
(1) #¥EESMEE
RESMREEE 0 0 0
(2) ®EHNER
RENERE 0 0 0
LR ESMEREE 0 0 0
LA — AR IERKBA 1 IBEE A 1,531,000] A 1,035,000] A 496,000
—RIEKBIERE RS 12,000, 000 11,000, 000 1,000, 000
—RIERB ERARES 10, 469, 000 9, 965, 000 504, 000
15 7€ IERRBA EE 1R IR OD &R
L HA45 T IERRBA A HRRAR 0 0 0
EEERMEREERS 106, 000, 000| 106, 000, 000 0
EEERMERRES 106, 000, 000| 106, 000, 000 0
EERIHERES 116, 469, 000| 115, 965, 000 504, 000




